
Boda Waltz 
Swedish 

TablEdited by Martin Blake
Feb 2018

martyblake@btinternet.com 










Em

               
3

   




6      
B7

         
C

     
Am

   




11
Em

              
B7

    
Em

     




16

 
 

C

      
G


    

  
D

 
  




22


  

G

   
G7

       

C

      




27 
G


 

Em


  

D

    


   

G

     

The A part is repeated, the B part isn't. 
It ends on ONE A part
eg: AABAABAABAABA


